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Question 1: Whate is the output of the following program: ( marks: 2.5)

Question 2: Whate is the output of the following program: ( marks: 2.5)

Question 3: What are the errors in the main of the following program: (Marks:2.5)
( Note: only write the line number and the error's reason)


Question 4: We have the following class declares the type str_type: ( Marks: 5 )
#include <iostream.h>

#include <cstring.h>

class str_type

{          char string[80];

public:

           str_type( char *str = " ") { strcpy(string,str);}

           str_type operator+ ( str_type str); // concatenate

           str_type operator= (str_type str); // assign

           void show_str() { cout<< string; }

};

int main ()

{          str_type a ("Hello"),b("There"),c;

            c=a+b;
            c.show_str();

            return 0;
}

Complete the function operator+ to concatenate between the strings which found in two objects. And the fucntion operator= to do assign. The ouptut of the prevous program is "Hello There".
Question : Write any overloading operator + function to add nubmer to object ( Ex: a = 10 + b ); 
Question: Write the copy constructer for the followint class:


Question 4: Define two dervied classes Cylinder( اسطوانه ), Circle ( دائره ) from a base class named shape. The goal of this program to compete the area of each of them. Write a program to do that? ( note: you should determinte the private and public members and access inheratance ).  
#include <iostream.h>


class base 


{	int i;


protected :


	int j;


public:


	int k;


	void seti( int a ) { i=a;}


	int geti() { return i;}


};





class derived1: protected base


{


public:


	void setj(int a) { j=a;}


	void setk(int a) {k=a;}


	int getj() { return j;}


	int getk() { return k;}


};





class derived2: private derived1


{


	int m;


public:


	void setm(int a) { m=a;}


	int getm() { return m;}


};





int main()


{


derived1 ob1;


derived2 ob2;


ob1.seti(10);


ob1.j=10;


ob1.setk(10);


ob2.m=21;


ob2.setj(22);


cout<<ob2.getm();


cout<<ob2.getj();


	return 0;


}





int main ( ) 


{ 	derived ob;


base test;


ob.set ( 2 , 3 );


test.set(10,20);


ob . show ( );


test.show();


ob.seti( );


ob.showi ( );


return 0;


}





#include <iostream.h>


class base


{ protected:


int i,j;


  public :


      void set ( int a , int b ) { i =a; j=b; }


      void show( ) { cout << i<<"   "<< 


                                           j<< endl; }


};


class derived : public base


{	int k;


public:


        void seti( ) { k = i * j ;}


        void showi ( ) { cout<< k<<endl; }


};





#include <iostream.h>


class base


{	int *p;


public :


      base (int i)


 {       cout<<"Normal"<<endl;


          p=new int;


         *p=i;


}


      base( const base &ob) 


{     cout << "Copy Constarctor"<<endl;


       p=new int;


     *p = *ob.p;


 }


int getval() 


{return *p;}


};





int main ( ) 


{ 	base a ( 10);


base b =a;


base c(20);


c=a;


          cout<<b.getval()<<endl;


          cout<<c.getval()<<endl;


return 0;


}





#include <iostream.h>


class base


{	





int I;


int *p,*j;





public :


      base (int i)


 { cout<<"Normai";


    p=new int;


*p=I;}


};








